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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate
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‘Which of the following allotropes of Carbon is used as a reducing agent in metallurgy?

Ans FIeeT soleh
Carbon Black

Question ID : 9864493431
Status : Answered
Chosen Option : 4

Ans x1.15
<212
v 316
X 414

Q.2 2 FEat F uEEe 40 ¥ A & vE w250 ¥ Ay wear e 87
The product of two numbers is 40. One of them is 2.50. What is the other number?

Question ID : 9864492941
Status : Answered
Chosen Option : 3

Al

Q3 7 % U 7w FEAT NF F MR W 3quiead & 3=

At Ol

Select the missing figure based on the given related pair of figures.

& @,

+;?

Question ID : 9864494179
Status : Answered
Chosen Option : 1

1/25
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Problem Figure

g |

Answer Figures
A B C D

Problem Figure - 991 &

Answer Figures - 3ca¥ Tp{il
Choose the correct mirror image of the following figure if the mirror is held at AB line.

Problem Figure

B |

Answer Figures

-F -8 | T2
e ;1_[) B C D
X2C
< 3B
X4 A

Question ID : 9864493895
Status : Answered
Chosen Option : 1

Q.5

Question ID : 9864493742
Status : Answered
Chosen Option : 2
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A Rw e R o Reet R 82

How many triangles are present in the below figure?

Ans «114

X212
X315
X413

Q.6

WEGT ST X MR A 2017 F ©F A A A@sthe #X FI gt &
TSTeRIOT S TET (TR #) g2 2

Ale: e F Tge FEA AerwpEe 3R gl T o A a1 Wit
= E R
AE T T 2017 T AIAEH F TR0 F vy wfoem #r iy g 2

50

45
40
35 -
30 2
25

jan feb mar apr may jun
jan- FEElr  feb- WEY  mar-AMapr - WS may- #E jun- S

The data given shows the registration of bikes and total vehicles (in thousands) for six
months in 2017 in city X.

Note: In the chart, the first number represents bikes and the second number represents
total vehicles.
The increase in registration of bikes from May to June 2017 is:

50

45 4
40 4
35
30 2
25
20
15
10

jan feb mar apr may jun

Question ID : 9864493797
Status : Answered
Chosen Option : 3

Ans X' 1. 60%
X 2.70%
V'3 64.7%
X 4. 69%

Q.7

Question ID : 9864493762
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Status : Answered

Chosen Option : 1

A [°
A+
LI 2

AHIXIX

A B C D
Select the correct figure that replaces the question mark.

o

AR
XIFEIE
.Q_'_

_|_

A B
Ans '(“D
X 2B

A

C

O® se@rElt F ygwa AfFa (power) Fr FHE B-

The unit of power used in industry is:

Question ID : 9864493342
Status : Answered
Chosen Option : 4

Ans

O T G & AET Tl BT F FAT el S g
The female reproductive part of a flower is called:

Ans

Question ID : 9864493277
Status : Answered

Chosen Option : 2

R
Carpel

v &)
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Stamens
gicdcel

3.
Sepals

~x

* *

Ka 27
Petals

Q.10 = & 715 Td% AP FT FIA TF TN FAET FF S FHE IS0 FH OE
T T 9T A W £

Question ID : 9864493825
Status : Not Answered
Chosen Option : --

Use each of the following figures only once and form three groups. The three groups so

4 5 [

V=l
Ans o1 (1,4,7), (2,5,8), (3,6,9)
< 2(1,5,7), (2,4,8), (3,6,9)
< 3(1,4,7), (3,5,8), (2,6,9)
<4+ (1,4,7), (2,6,8), (3,5,9)

Q1 grex Fr ST ‘ST H TTAT FE ST H A R g2
In which language was ‘Baburnama’, the Memoirs of Babur, composed?

x 1 gedr
Pashto

Ans

v AR
Turkish

x: 3%
Urdu
Eﬁﬁ;i r

K42
Kurdish

Question ID : 9864492083
Status : Answered
Chosen Option : 3

Q.12 =z folr ae1 & e &1 2 S8t Jar fGar I o 38F 3Tae 448 a9 FEHRT
9% oicn ¢l of =@ TRufa & °a & ucds FhAy & oFErs Far giei?

If the edge of a cube is increased by 2 cm, the volume will increase by 488 cm®. What
then will be the length of each edge of the cube?

Ans Xmﬁﬁﬁﬁﬂﬁ

6 cm

Question ID :9864492714
Status : Answered

Chosen Option : 2
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X 4

Q.13 s o & ot e Fafaf@a & @ s @ 2o & quewd o= 2
India-born Leo Varadkar became the Prime Minister of which of the following countries?

Ans 3ﬂ'£lﬁ's"
v
Ireland

x . TICES

| Scotland

Question ID : 9864492165
Status : Not Answered
Chosen Option : --

O gt & P W T RO FS wd ¥

Which of the following is not a voluntary action?

Ans
T FHl FHI Tl
F 2
Moving a chair
T IEJ ol
2. =
Taking an object
FI § FLAT
X 3. ;E’_En- o
Closing of fist
" foor Fr usT

Beating of heart

Question ID : 9864493616
Status : Answered
Chosen Option : 4

Q.15 ART 2017 F TG ARET UARATF Fo1 Iu=a g TS i fEaamAr
e for@r am

‘Who wrote the Indian historical fiction novel ‘The Rise of Sivagami’ published in March
20172

Ans vy 31fAer PAurd
Amish Tripathi
2 37Uty T
Arundhati Roy
v HlAG dlelhoed
Anand Neelakantan

Question ID : 9864492233
Status : Answered
Chosen Option : 2
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X 4 ¢decd UsATgeh
Devdutt Pattanaik

Q.16 FEHY T T uey B e g 5 2500 W TTH1 ST A1 WIS WA U gUf atf g

The smallest number that must be subtracted from 2800 so that the obtained number is a perfect square is:

Question ID : 9864492536
Status : Answered

Ans X1. 96 Chosen Option : 1
<273
<39
v 4 69

Q7 Rrsr A AR i T a S T F s F s v = d

Ans

FiT T HUT T T
po3Rr & aa F P

FYA:

1. (p+qP =16
2.p—-q=4r=2p

Consider the given question and decide which of the following statements is sufficient to
answer the question.

‘What are the values of p, q and 1?

Statements:

1. (p+q)P =16
2. p—q=4r=2p

Ko
HATST T S99 &oF & OIT A a1 & 93 gl

Only 1 is sufficient to answer the question.

~ 2
TaTer & Ja1F &7 & faT o aF o 1 7 &2 93T gl

Neither 1 nor 2 is sufficient to answer the question.

X 3
TaTer &7 919 &7 & [oT AT Fue2 & 9T 2

Only 2 is sufficient to answer the question.

v 2
AT F G & F v Fue 1 3w @t & =

Both 1 and 2 are sufficient to answer the question.

Question ID : 9864494328
Status : Answered
Chosen Option : 2

Q.18

afé; v 8 3T FET 136p 5785, 15 H YUt Frenfora 8, A p o1 =gma w1
Hifaw
If the 8 digit number 136p 5785 is divisible by 15, then find the least possible value of p?

Question ID : 9864492503
Status : Answered
Chosen Option : 2

Ans X1. 4
V21
<33
K42

Q.19

Question ID : 9864493609
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Ex

Status : Answered

Chosen Option : 1

Which of the following is used for disinfecting drinking water?
Ans v Sellf=reT 9T3=T
Bleaching powder
| ST a3t
Baking powder
, afeT e
Baking soda
, TS =T
Washing soda

x

~<

~x

O ol e AreH @ R G FHA &
Sound CANNOT travel through:

Question ID : 9864493243
Status : Answered
Chosen Option : 4

Ans X1_aﬁ¥rqar1‘r
Solid
NeicH Taryd

Liquid

~<

Q2 Prafafaa # @ ie 91 Fed & diEE agi g 2
Which of the following is NOT the combined form of carbon?

Question ID : 9864493172
Status : Answered
Chosen Option : 1

Ans xya’l?»hmgz

Dolomite

Q.22 7z I g & v, A9 i iy wfoeafew of & 99 =1 799 sma
FH T FH forde gar anfge?

To hear a distinct echo the time interval between the original sound and the reflected
sound must be at least:

Question ID : 9864493324
Status : Not Answered
Chosen Option : --

Ans -
v 0188

0.1 second
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x , 02 W3
0.2 second
< 3. 2 s

2 seconds

OB LFrH AT T=T & gad 30«# & 3= 7
Which Indian State has the most number of airports?

Ans x1. m

X 3.
West Bengal

G
(4.""

Gujarat

Question ID : 9864492118
Status : Not Answered

Chosen Option : --

Q2445 —[38—-{60+3—-(6—9+3)+3}]]=7?
45 —[38 — {60 + 3 — (6 — 9 = 3) = 3]]
Ans  of 126
X225
<324
X421

Question ID : 9864492559
Status : Answered
Chosen Option :1

Q.25 23 =v Reredt § & §afOg o F1 T4 Fi

5T TR 3T ST T & detad §, 58 e Tgewedr_ &

Select the related word from the given alternatives.

‘Explore’ is related to ‘Discover’ in the same way as ‘Walk’ is related to

<R
Search
X2 EGINCOIG]
Find
< 3 {
Accelerate
HAUT
Ramble

Ans

v

Question ID : 9864493935
Status : Answered
Chosen Option : 4

Q.26

Question ID : 9864492586
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Find the compound interest on ¥ 62500 at 21% per annum for 1 % years.

Ans 5 1. F 20,695
X 2 T 21,638.5
'3 T20,687.5
< 4 T19,687.5

Status : Answered
Chosen Option : 4

Q.27 watr a5t a8 1 1 47 §, IR 3 T 3 HUS T SFo o ol ATell 5 Tgedl 257 37 &

TrT 50 IFE?

What is the age of the eldest sister if, the sum of ages of 5 sisters born at the intervals of 3

years each is 50 years?

Ans
«1_163&

16 years
18 T
18 years
499

4 years

14 99
14 years

X 2

X 3.

X 4

Question ID : 9864492513
Status : Answered
Chosen Option : 3

Q28 ey WEar & 32%, 80 §1 TEAT fHhaer &7
32% of a number is 80. What is the number?

Ans X 1. 40
X< 2.50
v 3 250
< 4 260

Question ID : 9864492947
Status : Answered
Chosen Option : 3

Q.29 amr % fawx I gU UE ATEE T 40 Rreer H gl 9T = # 8 wE
A § S gNT & W ged g SH g & oF & # 38 fF 5 ue
eI 21 i Ser H aifass dr ol Far g@ef?

To go a distance of 40 km upstream a rower takes 8 hours while it takes her only 5 hours
to row the same distance downstream. What was the rower’s speed in still water?

Ans 6.5 freitaier ufa er

v
6.5 km/h

X2
4.5 km/h

< 3.
1.5 km/h

X a
4 km/h

Question ID : 9864492810
Status : Answered
Chosen Option : 1

4.5 Fendrer ufa ger

1.5 fareirdeT 9fa ger

4 freliaeT wfa ger

Q.30

Question ID : 9864493259
Status : Answered
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g7 & FHEOT H, F frEe SR &
In Force equation, F is equal to:
Ans X 1. mgh
& 2 u+at
<3 my
4+ ma

Chosen Option : 4

Q31 JfE tana = V2- 1 & a tana - cota = ?
Iftana = V2 - 1. then the value of tana - cota =?
Ans X1_ 2@
K22 41
<31
a2

Question ID : 9864492917
Status : Answered
Chosen Option : 4

Q.32 =g Fus H TE AR a7 L 0T FUT F F FiaT @ gRom dfed
gl

FUA:
g 9y & gofe &, A 93T & O IS By Hidesd 41 [har )

SROS:
1. amr S F I o § Saegear gidr gl
2. F3 3T U &1 § Sless fov 31fas e e ¢or S JaRashar g1

Consider the statement to be true and decide which of the following assumptions is/are
implicit.

Statement:
This year in the budget section, there was no fund allotment for travel insurance.

Assumptions:

1. Travel insurance requires funds.
2. There are many other areas that need more financial attentions.

Ans x 1 el gROm 1 fafEd g
| Only assumption 1 18 implicit.

Z.WWEﬁaﬁﬁﬁﬁm

X
Only assumption 2 15 implicit.

xsmsnﬂﬁﬂrmmzaiaﬁ%ﬁ%l

Either assumption 1 or 2 1s implicit.
| GO 1 31T 2 Qe SR &

Both assumptions 1 and 2 are implicit.

v

Question ID : 9864494379
Status : Answered
Chosen Option : 3

Pata+i-—3FA B+ =2

Ifa + = = 3,thena3 + — =2
a [}

Ans X1- 6
<212
V318

Question ID : 9864492876
Status : Answered
Chosen Option : 3
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G g #OF Fear F W F FAGT B

Two or more elements combine to form a:

Ans T STeRdl

Question ID : 9864493187
Status : Answered
Chosen Option : 3

Q.35 Arr 2018 W HEA & T=ATE & & A fhwa! gea &ar mar &2

‘Who has been appointed as the Governor of Assam as of March 2018?

Ans GIATTA T
x>

Subramaniam Swamy
W2 ' :ﬂ"@-
Jagdish Mukhi
3. =
Banwarilal Purohit
. T TG
Ganga Prasad

x

x

Question ID : 9864492427
Status : Not Answered

Chosen Option : --

Q.36 TaTiEH, FuEw & AT g aRicdes AfPemRT 2017 #F e Tt
RECRCIC I

‘Who won a gold medal in the World Weightlifting Championship at Anaheim, USA, in
20177

Ans «1_aﬂtr=|r§a1?,r\

Kunjarani Devi
X3 HUTH Heorall
Karnam Malleswari
Vandna Gupta

<

Question ID : 9864492219
Status : Not Answered
Chosen Option : --

Q.37

Question ID : 9864493843
Status : Answered
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Chosen Option : 1 J

&= g gea 2
Kabaddi
P Q R
2 T u

Football | ¥

Cricket

Football - Geatel Kabaddi - #a33 Cricket - frre

In the following Venn diagram the total number of students who play all the three games
is:

Kabaddi

P Q R

=3 T u

Football | V

Cricket

Ans « 1.9
K 2 5+V
< 3. 5+Q
K4 S+Q+V

Q.38 s # FRRE oW g | wom @ § 3w Rig & @ a7 §2

‘What is the name of the point at which the chromatids are attached in a chromosome?

Ans . ST (Gene)

Question ID : 9864493438
Status : Answered
Chosen Option : 4

<
Gene
, deh s d (Centrosome)

~
Centrosome

75 TAfFTT (Centromere)

Cenfromere

x4 FUETEg (Nucleosome)

Nucleosome

A rg gaT AL, 7x {4+ (—2) x(=3)} =7
Solve the following 7 X {4 + (—2) X (—3)} =7
Ans « 1.70

Question ID : 9864492699
Status : Answered
Chosen Option : 1

<214
<314
<4 42

Q.40 37 WY ARG Tshedldl WSl FT ATF Sd130 =i A Thediol
T (TAT) F fAd g arer 9ge ARdE §

Name the professional Indian basketball player who became the first ever player to be
drafted from India into the National Basketball Association (NBA).

Question ID : 9864492350
Status : Not Answered
Chosen Option : --

Ans
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<1 T R
Yadwinder Singh
| TaaTH T8 SR
Satnam Singh Bhamara
| 3R g
Ajmer Singh
;. ehereT
Alkilan Pari

v

x

Q.41 v [t ABC #H, FAFIUTB T §, BC=15 HaFet 3T AB=8 #&ier §1 afs Fegsr
ABC &7 Tiyged =T 774 &, 3 3ot Fr firemm e i)

In a triangle ABC, right angled at B, BC=15cm, and AB=8cm. A circle is inscribed in
triangle ABC. Then the radius of the circle is:

Ans X1_1ﬁaiha

lcm

x 2.2 HEHT
2cm

x5 4 HEHT
4cm

«4_315&1:\121

3cm

Question ID
Status
Chosen Option

19864492558
:Answered
:3

Q.42 T vk @i &, afy DOG #4157 for@m =mar &, ar MAT &t & orar

SATTE?
In a certain code, if DOG is written as 4157, then what will MAT be written as?

Ans - X1.14120
< 213012
V213120
< 412120

Question ID
Status

Chosen Option :

19864493958
:Answered

4

Q43 7fy 192 97 T FT FEA 108, AT 5 7 Foveet 97 WS 51 Ty B2
If 192 pens cost is Z10, how many pens can be bought for T 57
Ans x 1. 72
< 248
X 3.56
V4. 06

Question ID
Status
Chosen Option

19864492605
:Answered
14

Q.44

Question ID
Status
Chosen Option

19864493926
:Answered
1
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3H AP F 98T F S el g @ et ad

X Oe XX X[x @
® X[X O|® 0|0 X
A B C D

Select the figure that does NOT belong in the following group.

X Ol X|X X|x @
® X[|X O|®@ 0|0 X
A B C D

Ans «1(:
X 2D
< 3B
X4 A

Q45 v Yoy, feww foufy @ 3T @1, 90 eiieiiex 9y wer & 7fy s fame &
mmﬁ%maﬁrmmﬁg&amﬁ:aﬁmme
&1 I aTedr gl man

A train, starting from rest, aftains a velocity of 90 km/h in 5§ minutes. Assuming that the
acceleration is uniform, the distance travelled by the train during this time is:

Ans x 1 3.25 feheitAET
3.25 km

1.5 rardEeT

1.5 km

2.25 TeheilAeT

2.25km

3.75 TheitAET

3.75 km

X 2

X 3

v 23

Question ID : 9864493240
Status : Answered
Chosen Option : 4

Q.46 TrfofE IR (TereANE) wH H, wod Rwg(?) ga g aw
FIAN, T 3N Ao g1 v 71w fawed # ¥ sepaftyd swn &1 99
£yl

5E, 7F, 11H, 17K,?

In the following alphanumeric series, one term is missing as shown by the question mark
(7). Select the missing term from the given options.

SE, 7F, 11H, 17K.?

Ans X 1. 25P
% 2.20Q
v 5 250
4 20N

Question ID : 9864494297
Status : Answered
Chosen Option : 3

O B TN T ETHAT N AT gl AT 872
The capacity to do work is called:

Ans x . aﬁ
pressure

Question ID : 9864493321
Status : Answered
Chosen Option : 2
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X2 SIESY

power

AT

energy

W 3

o T
force

Q.48

Ans

F=ffe & @ =9 = ooy e B
Among the following which is a rational number?
X112
<233
V'3 38
<4372

Question ID : 9864492744
Status : Answered
Chosen Option : 3

Q.49 Tt o W O & a7 & & & 712 39uRonst 7§ & 398 s @ [fga

Ans

g7

o

Teh GelE3iial &1 AT 2200 02 T2 1 7 e & arer fhar g,
AT off ©aT GemS3taT T 3T 8T W T £

HaHHUIT

1. TeS3TaT &1 [HATT SR Bl
2. FarsHey & fAEor W @d R e @, dar 3 e 96 8 W g
‘ticilpmi era/si snoitpmussa nevig ehit fo heihw ediced dna tnemugra eht redisnoC

tnemugrA

ton era elpoep tey .serorc 200 X fo tsoc gnippohw a htiw detcurtsnoc neeb sah revoylf A
‘hcum revoylf eht gnisilitu

noitpmussA

1. .sselesu si revoylf eht fo noitcurtsnoC
2. _detsaw saw revoylf eht fo noitcurtsnoc eht no tneps ygrene dna yenom emit ehT

hael qauron 2 [Afgd g1

tieilpmi s1 2 noitpmussa ylnO

«Z_Era’H 3R A & 2 Bifga &1
tieilpmi 51 2 ron 1 rehtieN

xs ] 3R 2 gl [ &

tieilpmi era 2 dna 1 htoB
, el qaeRen 1 fdafga g1
tieilpmi s1 1 noitpmussa ylnO

r

x

Question ID : 9864493645
Status : Answered
Chosen Option : 1

Q.50

Question ID : 9864493969
Status : Answered
Chosen Option :1
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Ans

AT R AR AT R I FT T A T aE ¥ AT

TR

X 4

Q.51 7% W caeEs AR wi i B St & sed A & S e e

Ans

fafea & /&

L
i 3 e 7o § O FAY 9 a9F v s AEs FF T

HeJHTeT:

1. &F T a=NT a9 #r T 2

2. 3 T AT Ao E

Consider the argument and decide which of the given assumptions is/are implicit.

Argument:
If you're a classical dancer we have an exciting job for you.

Assumptions:
1. We need a classical dancer.
2. You are a classical dancer.

S T2 P ¥

Neither 1 nor 2 is implicit
Fae A 2 fafea @
2

Only assumption 2 is implicit

1 3t 2 I+ Afga &

Both 1 and 2 are implicit

x

x

Question ID : 9864493868
Status : Answered

Chosen Option : 3
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I ITAT 1 Afga
v 2 %

Only assumption 1lis implicit

Q.52 farer gag X 3 Y Tt % # vw g@t F AE T9d gT TR A # F
et 57 vk gy ¥ e € 35 AT Y 1 o X & afger 3w o 81 X
fm e #r 3T @=r ar?

In the morning, X and Y walk towards each other in a park. When they meet, Y’s shadow
falls towards the right side of X. In which direction was X facing?

Ans «1aﬁ.m

South

Question ID : 9864494112
Status : Answered
Chosen Option : 1

Q53 Frafaf@a Fus #1 Fafte 39gF FFeT & |y 9o &

TF AT H FHAT T g g g

Complete the following sentence with the most suitable option.

A shirt always has
Ans x ., T
1.
a button

" &) i
fabric

v

X 3 PTeT
a collar

X 4 c
a pocket

Question ID : 9864494077
Status : Answered

Chosen Option :1

Q.54 forlr el Zr #r T GIST 4 G H s WEar § et guw aey s g &
F 10 T & @l T 2ar 1 o7 S 3wl @ o o S @ aEet Y v
Frer el f&m Tl & fhae @A 7 O S

One pipe can fill an empty cistern in 4 hours while another can drain the cistern when full
in 10 hours. Both the pipes were turned on when the cistern was half-empty. How long
will it take for the cistern to be full?

Ans hd
«1_3 ue 20 A=e

3 hours 20 minutes
, 4 ue 20 fAae

4 hours 20 minutes

~<

Question ID : 9864492691
Status : Answered

Chosen Option : 2
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, 6 ue 40 fAae
6 hours 40 minutes

4_55%30@33

5 hours 30 minutes

~<

x

Q.55 gftg s sies seher Burdt gEEeT oA ok gwer e @
e agel & frad wen 9 R dar W Ffa ¥ 5w o@er fr Sud
oo fag 91T 9T ameniya geir?

Amish Tripathi, a famous Indian writer, is working on a series based on Ramayana, in
which the first two books focus on Rama and Sita, respectively. On which character does
the third book of this series focus?

Ans e pre)
1

Bharata

Ko o 2

Hanuman
ol&HUT

. Lakshmana

v &3
Raavana

X3

Question ID : 9864492381
Status : Not Answered
Chosen Option : --

Q56 few 1T AT H WEH AHAF FIYFA fSweT F W T H
T AT o O gAe grem/ gt
Complete the following sentence with the most appropriate option.

A king will always have a

Ans ;:I_:lln.

Question ID : 9864493968
Status : Answered
Chosen Option : 3

Q.57 =T 3T # ¥ i @ Tas # FEat 990 WS F #EE T
%'?

Which of the following devices helps to maintain a potential difference across a
conductor?

Ans v T ¥
A cell or battery

Ammeter

X 2

Question ID : 9864493505
Status : Answered
Chosen Option : 1
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X 3 TeTHIEY
Voltmeter

x4.i‘|?q'|?-mﬂu

Galvanometer

Q.58 37 fekeT # g o Tlef@d R & ¥ v sqefeys = & g

Ans

X1 4
X 22
V1
X 43

Question ID : 9864494258
Status : Answered
Chosen Option : 3

Q.59 wffea gomiae ithed e 2017 Fia F HIe gglr TR B 7w 2

Ans

The Fugitive Economic Offenders Bill 2017 was passed by which ministry?
o AT
Labour Ministry

FIId HIT

<2 o
Law Ministry

, =T AT
Commerce Ministry

) EaG:EICL]
Finance Ministry

<

v

Question ID : 9864492288
Status : Not Answered
Chosen Option : --

Q.60

Ans

Haew HI HIAH Bfca Thaw s 2idr 87
A fungal cell wall is made of:
g T Hogeter (hemi-cellulose)

hemi-cellulose

<2

lignin

Ko

Question ID : 9864493335
Status : Answered
Chosen Option : 3
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<o~
cellulose

" Frsfea (chitin)

chitin

Q.61 Ut = AT AT AIUET 2 145 : 46 F9T UE H N g Ay W AH F 4 D 9864492994
55 : 57 &= g 3T F wela & 58 fBee 40 ¥ aw A Uw # R Question ID :
Tided o7 38 50 e 29 WhE A 9ET T AT F O A gfr Status : Answered
# raer @ET semar? Chosen Option : 1

Praneet started his journey at 2:45:46 p.m. and reached the destination at 4:55:57 p.m.
Anit started the journey 58 mins 40 secs after Praneet and reached his destination 50 mins
29 secs after him. How long did Anit take to complete his journey?

", 28 2 e
2 hours 2 minutes

x, 2 B¢ 2 WS
2 hours 2 seconds

, 1 ®er 59 fase

1 hour 59 minutes
.28 1 e 12 3w

2 hours 1 minute 12 seconds

.62 ; i
Q02 et (1 -12)F TF A H e AW g 2 Question ID : 9864493388

Status : Answered

~x

How many atoms will one mole of Carbon (C-12) contain?

Ans X' 1.6.02 X 1026
v 2 6.02 x 1022
#< 3.8.06 x 102°
< 4.60.20 x 10%¢

Chosen Option : 2

Q.63 o o & ST drer T B3
TE A, ® 3 RO WH A AR Question ID : 9864492805
AT B:cu6:13 A A:B:C T AT T FEM?

There are red (A), yellow (B) and green (C) tokens inabag. A:B::3:8.B:C::6:13. Status : Answered
A:B:Cis given by: Chosen Option : 2

Ans X' 1.3:48:13
v 29:24:52
K33:6:13
X 43:8:13

Q.64 1 x 10~° Frer 9fT #ieT HI FEF=A HIA H TEAT a6l T G & pH )
=T grem | Question ID : 9864493310

The pH of a solution, whose hydrogen ion concentration is 1 X 10~>mole per litre, will be Status :Not Answered

. Chosen Option : --

Ans X 1.7
<24
X 36
s
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Q.65 Trmwer F WU FFER F Bre 9§ 2017 F B 9 F s § gelea
forar Tam?
Which chef was awarded the Padma Shri in 2017 for his culinary contributions?

Ans WHER WX

Question ID : 9864492374
Status : Not Answered
Chosen Option : --

Ko
Ranveer Brar

g @t
Vikas Khanna

| A
Sanjeev Kapoor

| T TR
Madhur Jaffrey

<2

v

<

Q66 & Rl A@en #1 A UG g

Question ID : 9864494321
Status : Answered
Chosen Option : 3

PG, QH, RI, ?

Select the term missing from the given series.

PG, QH,RI, ?
Ans XTLT
< 28T
W8T
< 4K

" i3 FeAr fhaenr F0T @ &

Mechanical energy is the sum of:

Question ID : 9864493286
Status : Answered
Chosen Option : 4

e R 3+ A we

kinetic energy + heat energy

xz_ﬁb-lﬁ?ﬁ‘r+mm

potential energy + heat energy
. TS FaAT + faegd e

chemical energy + electrical energy

. T 3+ R 3o

kinetic energy + potential energy

Q.68 Ify ZrEEar F fe 1 ugen Hi Sraw ooy wirew AT oS §, rsa R
UL HETH il T G2

If the first and third members of a Dobereiner triad are Phosphorus and Antimony, the
second member of this triad is:

Question ID : 9864493093
Status : Answered
Chosen Option : 2

Ans
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Q.69 femrfoare forea et wamer famar o aea &7 SToTerst 3ok SRATO] el 1
Hrafie orT g

Who stated the following law: ‘The properties of the elements are the periodic function of
their atomic masses’?

Ans gﬁiﬂTu
Ko
Dobereiner

Areter

Moseley
- ECIC]
Mendeleev
K4 ™S

Newlands

X 2

Y &)

Question ID : 9864493374
Status : Answered

Chosen Option : 3

Q.70 3T 1T FFdeat T T AT F Fef X Ig dF &1 o & & (@) ey
FeFcIeAl FT TR T F AT (FIA R) T £

qedcd:
g @ g fafeas wmw =4 #

forsat:
1. AT & OF e A & P

2. AT R off FAT 3T T B

Read the given statement and identify which of the given conclusion(s) logically follow(s)
from the statement.

Statement:

Death keeps no calendar.

Conclusions:

1. Man must die one day.
2. Death can come at any time.

Ans {1_1 3T 2 =t FETT FA B

Both conclusions 1 and 2 follow.

2mm&1wmél

Only conclusion 1 follows.

x

Question ID : 9864494268
Status : Answered
Chosen Option : 1
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Facl frsey 2 ITEIT HIAT ¢
3.
Only conclusion 2 follows.
1 #R 2 2t sgaor i wT E

MNeither conclusion 1 nor 2 follows.

x

~<

QM gfe 23 x 31 =713 @ 0. 0713 + 3.1 f&g=m grem?
23 x 31 =713. How much is 0.0713 - 3.17
Ans 2 1.0.0023
<223
+'3.0.023
<4023

Question ID : 9864493001
Status : Answered
Chosen Option : 3

Q.72 £ R 7w ) Rwedt # § T 3UgE Reew § I ReafiRE aew @ @ F

T T F T B &

Complete the following sentence with the most appropriate option.

An office always has a/an
Ans
Ko Nilé
Kitchen
) od
Roof
3 U EI
Authority
hll
X 4
Car

Question ID : 9864494128
Status : Answered
Chosen Option : 3

Q.73 3fg BACKFIELDS 2Ieg & 31&RI I 3T JuiATer & 7 #F =afeaa fomar
ST dF 31e 'F & alfgell 3 GENT &R HisT @ gen?

If the letters in the word BACKFIELDS are arranged as in the English alphabetical order,
then which letter will be to the second right of the letter ‘F’, after the rearrangement?

Ans o 1 K
X2C
XL
X4 E

Question ID : 9864493696
Status : Answered
Chosen Option : 4

Q.74 6 o ¥ v WAR 7 AT TeT # smr R e & 9ieT &R O e
it T & fEer gam Av orT % ardis w5 i SEe W g w7 E
Hea 3 & 57 e & AT O F 9o 669y § B F A 5 F

e #

There was a group of six students who took a test. Another student joined the group after
taking the test later. With her marks included the average score of the group went up by 3.
This student has got marks more than the average marks without her being
included.

ans 1. 20
v 2 21

Question ID : 9864492698
Status : Answered
Chosen Option : 2
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Q75 37 oy 1 gOw Y S AT weg @ wefta w6 &

Ans

Question ID : 9864493961
Status : Answered
Chosen Option : 1

B PDB

A B C D
Select the figure that does NOT belong in the following group.

BDRB

A B C D
viC
X2 A
X 3B
X 4D
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